

f(x) = f(2, 3) (2, 2) (1, 4) (3, 1) (5, 2) }

5-10

f(x) = f(1, 0) (4, 1) (-1, 5) (-2, 0-2) (-3, 1) }

الف) f - g = f(x, 2) (1, 4) (3, 2) }

ب) $\frac{f}{g} = 2f f(2, 2) (4, 4) (1, 1) (3, 2) (5, 4) }$

$\rightarrow \{(2, 2) (1, \frac{8}{5}) (3, -2)\} \rightarrow \{(2, 4) (3, -2)\}$

f(x) = f(3, 1) (3, 2) (-5, 2) (1, 0-1) }

1, ω-9

الف) 2f(x) = f(2, 2) (3, 1) (-5, 2) (1, 0-1) }

ب) f(x)+1 = f(2, 2) (2, 5) (-5, 3) (1, 0-1) }

ج) 3f^2(x)+1 = 3f^2(x) = (2, 3) (3, 1) (-5, 12) (1, 12) }

$\rightarrow \{(6, 4) (3, 12) (-5, 13) (1, 13)\} ?$

~~د) f(2x) = f(2, 2) (2, 1) (-5, 2) (1, 0-1) }~~

f(x) = f(2, 0) (1, 0-1) (0, 2) (4, 1) }

5-1

f(x) = sqrt(9-x^2) -3 < x < 3 { (2, sqrt(5)) (1, sqrt(2)) (0, 3) }

الف) $\frac{f}{g} = \{(2, 0) (1, -sqrt(2)) (0, \frac{3}{sqrt(2)})\}$

ب) $\frac{f}{g} = \{(2, \frac{3}{sqrt(2)}) (1, -\frac{sqrt(2)}{2}) (0, \frac{3}{2})\} \rightarrow \{(1, -\frac{sqrt(2)}{2}) (0, \frac{3}{2})\}$

5-2

f(x - 1/x) = (x^2 + 1) / x^2

x - 1/x = -3 $\xrightarrow{+x}$ x^2 + 1 - 2 = +9

f(-3) = 11

= ((x^2 + 1) / x^2 = 11)
(x^2 + 1) / x^2 = 11

$$f(x) = \frac{x^2 + 5x + 6}{x^2 + 3x + 2}$$

$$\frac{x^2 + 5x + 6}{x^2 + 3x + 2}$$

5

$$f(\sqrt{x}-1) = \frac{(\sqrt{x}-1)^2 + 5(\sqrt{x}-1) + 6}{(\sqrt{x}-1)^2 + 3(\sqrt{x}-1) + 2} = \frac{x - 2\sqrt{x} + 1 + 5\sqrt{x} - 5 + 6}{x - 2\sqrt{x} + 1 + 3\sqrt{x} - 3 + 2} = \frac{x + 3\sqrt{x} + 2}{x + \sqrt{x}}$$

$$f(x) = ax^r - bx + r$$

$$f(x-1) - f(x) = 4x + r$$

$$a(x-1)^r - b(x-1) + r - ax^r + bx - r = 4x + r$$

$$f(x-1) - f(x) = 4x + r \quad a(x^r - 1) - rax - b(x-1) + r + bx - r = 4x + r$$

$$a + b - rax = 4x + r$$

$$a + b = r$$

$$-ra = 4$$

$$-r + b = r \Rightarrow b = 2r$$

$$-ra = 4$$

$$r - a = -4$$

$$a = -\frac{4}{r}$$

5

$$f(x) = \begin{cases} x - \sqrt{x} + r & x > r \\ rx + r & x \leq r \end{cases}$$

$$rx + r \quad x \leq r$$

$$f(f(a)) + f(f(r)) = 4 + 1 = 5$$

$$\sqrt{}$$

$$a = \frac{4}{r}$$

5

$$f(x) - rf(x) = x^r - rx + r$$

$$f(-r) + r = r + 4 + rf$$

$$f(-r)$$

$$f(-r) = 1$$

$$f(r) - rf(r) = r - 4 + r$$

$$f(r) = r \Rightarrow rf(r) = -r$$

۲

$$y = \frac{\sqrt{-x}}{f(x)} \quad \frac{-x}{f(x)} \geq 0$$

مربع = ۰ ۹ ۲۵ ۵۳ - ۳

-۳	۰	۲	۵
	+		+
	-		-
	+		+
	-		-

مربعهای مثبت
منفی

$$y = \sqrt{x f(x)}$$

$$x f(x) \geq 0$$

$$D = [-۵, ۰] \cup [۲, ۵]$$

۲ - ۱

-۴	-۲	۰	۲	۵
	+		-	
	+		+	